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Dedicated By:

1327 8112781 - What is the source for each opinion whether
the o»on intended the M~ of naw to apply during 2
mwnw or not?

We have a kn>»12 that says:

17 holds that an 117p that is on a tree lower than 10 ooV, is a
valid 2117y, but may not be taken once naw begins due to the
TR of using a tree. This 17O°R was not in effect during 2
mwnwi when the 217 takes effect because a maw dAoes not
apply during mwnwn pa.

The 1327 hold 217v 1117Y PR SV MORW DIPH 53 -

Any situation in which you cannot take the 217y, the 117v is
not valid - and you cannot take the 217y off of a tree during 2
mwnwn because even 3177 O’ NOR are operative during v’

The xn»72 also taught;

1PV 1Y DMV TIWYH THYNS 170K 1R IROM 793532 1M1 -
Rebbe holds that if you put the 217 in a basket and hang it on
atree, the 217 is valid.
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R117 explains that if the tree alone were four onov wide, it
would be a 7’0 mwA - and the basket would also be consid-
ered a 70 mwA even if it is not 4 onov wide - Tosfos
explains - because it is 71 mwy 0 - part of the TR mwA.
Consequently, the 217 would be %109 since you cannot
access it from the 0297 mwa where you are nnvaw nnp.
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17 1s talking about a case where the basket and tree are each

less than four onov wide, but combine to equal a space of

four o'nov.

»17 holds like X137 who says D505 Pppin - we view a
. solid structure - in this case the tree, as if it were carved out to

make the basket as if it were four o'nov wide.

17 also holds like 77 °27 that the 217°v has to be on a place

that is four nov wide, because the 217’ always has to be on e

aywn opn - a substantial place. N PN SN

10 PPN f,ﬂ;) //f/o/')/n

However, the question is - the basket, now Halachically 4

o'nov wide - why is it not a i mw1 from which you cannot >
access the 117? After all, "7 °272°07 *217 said; =
SPDIV WRI IM T2 MW NP POI..... - Alter bl ..

. AT 13920y 39
An area elevated ten onov off the ground that is four onov ﬁ —
wide is considered to be a 7’0 mwA, based on the principle P Y R'297 N2 MIp P
of MR 713 - we view the walls of the elevated basket as if ‘7P07f5 WNI2 M
‘;}:Z sxtend down to the ground and make up a 7x°m of 10 s 15
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The Gemara answers;

AT 2272707 727 R MIPOR -

Even nmi »172°01 °27 would agree in this case that the basket
is not a 'm0 MwA, because we must first employ the concept
of ’>wnb PN to make the top of the basket four o'nov wide
- and only then can we utilize the concept of iR 71 to
extend that four nov area downward.

We do not combine 2 concepts and use them together. %
Therefore, the basket is NOT a 7 mw», and the 217p is
valid.

Y

We don’t combine 2 concepts

W Ve . .
D1

70 PNS AR A0S 5191 PRIT 953 IRW IR TR 37 -
R’ Yirmiya explains that even if the tree itself'is four onov
wide which would make it a 7’0 mw9, the 237°» would still
be valid, because the 217 will not have to be transferred VAR

. directly from a 7r°n mwA to a 0270 Mmwa. When the basket is
tilted to within ten o'nov of the ground it is in a 5175 and
you can then take the 217°v from the 75170 to the o177 MwA
where he was nn°aw nnp, because a maw does not apply
during mwnwi a2 when the 217y takes effect.
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